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11. Which analysis depicts the relationship between two figures : 
(A) Ratio Analysis 
(B) Trend Analysis 
(C) Cumulative figures and averages 
(D) Dividend Analysis 

Answer 

Answer: A 

 

12. In which analysis total cost are equal to total revenue from Operations : 
(A) Trend Analysis 
(B) Ratio Analysis 
(C) Break-Even Point Analysis 
(D) Fund Flow Statement Analysis 

Answer 

Answer: C 

 

13. Fixed Assets of a company increased from ₹3,00,000 to ₹4,00,000. What the 
percentage of change? 
(A) 25% 
(B) 33.3% 
(C) 20% 
(D) 40% 

Answer 



Answer: B 

 

14. A Company’s current liabilities decreased from ₹4,00,000 to ₹3,00,000. What is the 
percentage of change? 
(A) 25% 
(B) 33.3% 
(C) 20% 
(D) 40% 

Answer 

Answer: A 

 

15. A company’s working capital is ₹10 lakh (Negative balance) in the year 2018. It 
became ₹15 lakh (Positive balance) in the year 2019. What is the percentage of change? 
(A) 150% 
(B) 100% 
(C) 250% 
(D) 50% 

Answer 

Answer: C 

 

16. A company’s Revenue from Operations are ₹20,00,000; Cost of Revenue from 
Operations is ₹14,00,000 and indirect expenses are ₹2,00,000. What is the amount of 
Gross Profit? 
(A) ₹18,00,000 
(B) ₹4,00,000 
(C) ₹8,00,000 
(D) ₹6,00,000 

Answer 

Answer: D 



 

17. Revenue from Operations ₹4,00,000; Cost of Revenue from Operations 60% of 
Revenue from Operations; Operating expenses ₹30,000 and rate of income tax is 40%. 
What will be amount of profit after tax? 
(A) ₹64,000 
(B) ₹78,000 
(C) ₹ 52,000 
(D) ₹96,000 

Answer 

Answer: B 

 

18. Revenue from Operations ₹8,00,000; Gross Profit Ratio 32%; Indirect Exp. 10% of 
Gross Profit and income tax 40%. What will be the amount of profit after tax? 
(A) ₹1,38,240 
(B) ₹1,02,400 
(C) ₹92,160 
(D) ₹1,53,600 

Answer 

Answer: A 

 

19.Revenue from Operations ₹4,00,000; Cost of Revenue from Operations 60% of 
Revenue from Operations, indirect expenses 15% of Gross Profit; Income Tax 40%. 
Calculate net profit after tax 
(A) ₹64,000 
(B) ₹54,400 
(C) ₹81,600 
(D) ₹96,000 

Answer 

Answer: C 



 

20. Payment of Income Tax is considered as 
(A) Direct Expenses 
(B) Indirect Expenses 
(C) Operating Expenses 
(D) None of the Above 

Answer 

Answer: B 

 


